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QUESTION 1

A company does not want to allow users to remotely download content through the IVE rewriter because of concerns
that the content will be left behind on user PCs. Which three options should be investigated and used to help mitigate
this risk? (Choose three.)

A. Use Secure Virtual Workspace.

B. Enable caching in the Web browser.

C. Enable caching for all Web content.

D. Use Cache Cleaner.

E. Disable caching for all Web content.

Correct Answer: ADE

QUESTION 2

By default, the IVE device maintains a list of trusted root CAs and possible chains installed on the device.
The list of installed certificates mirrors which operating system and browser?

A. Windows XP SP2 with Internet Explorer 7.0

B. Windows Vista with any supported browser

C. Windows Vista with Internet Explorer 7.0

D. Windows XP SP2 with Internet Explorer 6.0

Correct Answer: D

QUESTION 3

After configuring certificate-based user authentication, you receive a "certificate missing" error when trying to sign in to
the IVE device. What is a possible cause of this problem?

A. The certificate of the IVE device was created by a CA for which you do not have the CA certificate installed on your
PC.

B. The user certificate you are using to authenticate has been revoked.
C. You did not upload to the IVE device the user certificate with which you are attempting to authenticate.
D. The CA used to create the user certificate has not been uploaded to the IVE device.

Correct Answer: D
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QUESTION 4

You are the administrator of a large company and you will be implementing two SA 6000s for remote access. You
require high availability and a way to balance the load between thousands of users. Which scenario should you use for
your cluster?

A. Place both devices in the same LAN and set your cluster to active/passive.

B. Place each device in a different network and set your cluster to active/active.

C. Place both devices behind a front-end load balancer and set your cluster to active/passive.

D. Set your cluster to active/active; an external load balancer will be required.

Correct Answer: D

QUESTION 5

Which operation would you use to extract the configuration in a format that can be read by a script?
A. XML export

B. Syslog capture

C. Config export

D. SNMPv3 trap

Correct Answer: A
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